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What do we solve ?
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Scenarios ADS simulator Test metrics Scenario generation [ASE’21] Which driving scenarios to generate?
(derived from The ADS considers different requirements and, sometimes, it sacrifices
\f\@ requirements) the satisfaction of non-critical ones to guarantee the critical ones. We
o enerate scenarios in which these trade-offs happen.

® g i 2 FM=p s g |
g < e Scenario simplification [ICST'22] How to simplify a scenario so that
o IQ it contains only the important elements? If too many elements are in a
Objective @ Q scenario, it is difficult to do debugging (understand why a failure
Generate |\ Function occurred). We generate the minimal scenario that shows the same

Search algorithm failure.
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Scena rlo generatlon (Luo et al. Targeting Requirements Scena I‘IO SI m pl Iflcatlon (Arcaini, Zhang, Ishikawa. Less is
Violations of Autonomous Driving Systems by Dynamic Evolutionary Search. In ASE'21) More: Simplification of Test Scenarios for Autonomous Driving System Testing. In ICST'22)
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